
1-6 83 67 50 33 17 0

1) 10•11 = 2) 17•10 =

3) 14•10 = 4) 10•12 =

5) 10•14 = 6) 10•15 =

1. 110

2. 170

3. 140

4. 120

5. 140

6. 150

     

Benutze die vorgegebenen Anordnungen um jede Aufgabe zu lösen.

Multiplizieren mit Anordnungen
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Lösungsschlüssel

1-6 83 67 50 33 17 0

1) 10•11 = 2) 17•10 =

10

10 1

(10 • 10) (10 • 1)

10

10

7

(10 • 10)

(7 • 10)

3) 14•10 = 4) 10•12 =

10

10

4

(10 • 10)

(4 • 10)

10

10 2

(10 • 10) (10 • 2)

5) 10•14 = 6) 10•15 =

10

10 4

(10 • 10) (10 • 4)

10

10 5

(10 • 10) (10 • 5)

1. 110

2. 170

3. 140

4. 120

5. 140

6. 150

     

Benutze die vorgegebenen Anordnungen um jede Aufgabe zu lösen.
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